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2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hns2
CAITHA D 50,000,000 50,000,000
=010l FEots NEIHss TAIMY 50,000,000 50,000,000
SAHEANSBR (SN0 ZHC AN AL E 50,000,000 50,000,000
NAANSESIH)
0TS TANHECR Ba 27,000,000 27,000,000
401 Al2HI L =2 Tl 27,000,000 27,000,000
01 A&l 26,950,000 26,950,000
OFINIDIZS TAHAL 24
26,950,000,0008 * 14! 26,950,000 26,950,000
03 Al& 2 I 50,000 50,000
OFII0IEY SAHAL 24 20l
50,000,0008 * 14! 50,000 50,000
0TS SABY B4 23,000,000 23,000,000
401 Al HI YL = TH Yl 23,000,000 23,000,000
01 A&l 23,000,000 23,000,000
OFIN0IZY TAZH 24
23,000,000,0008 * 14! 23,000,000 23,000,000
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21 3,000,000 20,000,000 A 17,000,000
CZNEY S 3,000,000 20,000,000 A 17,000,000
CEHEALE 2L (LEANSIN0HEAIHEANEHXE 3,000,000 20,000,000 A 17,000,000
AAANSLESH)
20 S22 4 3,000,000 20,000,000 A 17,000,000
401 Al HI L 20| 3,000,000 20,000,000 A 17,000,000
01 Al& HI 3,000,000 19,950,000 A 16,950,000
OXIIOIZY ZTAHBAILE 24
3 & 3,000,000,000& = 14 3,000,000 19,950,000 A 16,950,000
03 Al&E 201l 0 50,000 250,000
OXIIDIEY TAIHEALE B4 20
348 0& 0 50,000 250,000




